5T R K 7S E@

]
KR

2050 13 AURAT / BRAR 1
2BA. 4BA. M3. m35.
M4 . M6

2050 32

Fr il B T R BRAE IR
BRTES L

BB HIRET

FHHE R KR

BBETKE N 6mm 2

75mm

RS AUE it A SR A I A7 i S 0 Ll it BB o FRATTA 77
Zyged TR, $EOL5 0 i AT S R & 1 e 75 ST
& IR A%

RS —M\ https://uk.rs-online.com/ T4 3% itk i J¥30f4.14



RET AIE AR E A

[ELE oy =

HIAR S AR A Lol it RS Pro WU 2k, IXGRK R R AfF i3 B 36 MEWIRPIEHE . A2/
RN EPESE B AR TS B IR B RE I — R 5 A AT ba PR SR DS . MEE. 4
R T L SRET . SRS RSO IR R, B MPURE

% 2050

BRAT / WERRZREL 1S B AT

LR WhES . MRIE . B [’

IRBh RS KRR e
PR, RSk - M3 . m3.5.
PR . FRAEE AL - M4

S PEERTEA . FAEELL - M4 . M6 .

SR YERASCA . JTREE L - 4BA . 2BA
BERE, S RN KA S IE A - M3 . m3.5 .
M4 . M5. M6

M.H HEL A R ZE AN

UL

BRET [ BB K E 6mm % 75mm

BB R~F M3, M3.5, M4, M6, 2BA, 4BA

prp s T

RE il

WEET | B R K 75mm

BR4T / B KERE 6mm

RS —M https://uk.rs-online.com/ 14 3% 7= i

1% 3 of 4.24



WEAT IR £ 0 a@g

RS —M https://uk.rs-online.com/ 4 S& 77 i A3 of 4.34



R AR b = A ‘EI

M6 x 20 M6 x 12 M6 x 16 M6 x 25
25 off 25 off 25 off 25 off
M5 x 12 M5 x 16 M5 x 25 M5 x 20
30 off 30 off 30 off 30 off
M4 x 20 M4 x 12
50 off 75 off
M3 x 6 M3 x 8 M3 x 12 M4 x 8
50 off 50 off 50 off 50 off
Kit Contents
Th d
s:z: L (mm) aty L (mm) Qty L (mm) Qty L (mm) Qty
M3 6 50 8 50 12 50 - -
M4 8 50 12 75 20 50 - -
M5 25 30 12 30 16 30 20 30
M6 12 25 16 25 20 25 25 25

RS —M https://uk.rs-online.com/ I3t UKL 3 of 4.44



	2050 件装黄铜螺钉 / 螺栓套件、 2BA 、 4BA 、 M3 、 m3.5 、 M4 、 M6

